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pm4eX RMS (ppm)
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Mean 0.1451+ 0.1519
I Std Dev  1.196 + 0.1074
25~ Underflow 1
B Overflow 0
r X2/ ndf 9.792/9
20
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1D pull distribution

-0.1476 £ 0.1303

Mean

1.026 + 0.09213

Std Dev

Underflow

Overflow

16.3/7

X2/ ndf

10.73 £ 2.84

Constant

-0.3075 + 0.1502

Mean

+0.213

0.913

Sigma
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X2 / ndf

.03 + 31.63
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pm1X RMS (ppm)

corr_Adet b

[11 ________________________H__”

_______
o o O
™ N —
— — —

(wdd) sy

100

o o o o o o
@] [¢0) N~ © Lo <

g€'eeor
c'eeoy
T'eeor
0€coy
v'eeoy
€'¢eoy
[x44v4
T'ceor
0'ceor
S'TeoY
v'Teor
€'Teor
¢'Teoy
T'Teor
0’120y
8'020Y
R4y 4
9'0¢0v
S'0c0v
¥'0c0or
€'0c0or
2'0coy
T'0cov
0'0cov
7’6107
€'6107
2’6107
T'6T0V
0610V
7’8107
€'8107
2’8107
7’8107
0’810V
v'.107
€'.107
¢'L10v
T'.LT07
0'.T07
7’9107
€9107
¢'9T0Y
T'9T0V
09707
¥'S107
€'9T107
2'ST0Y
T'ST0Y
0'sTOY
v'eT0r
o204
24104
TeToY
0'€T0Y
v'e¢ior
€¢I0v
¢eioy
T'¢cior
0cIor
€TI0V
¢'T10Y
TT107
0'TI07



] ) — o o =3 =3 ©
@ < — n re) =
=1 o) = * =1 <
N bl < = hal
[S] [S] @ H =} =}
+ + il Q + +
& 3 s 8 8
IN] ~ = ® =1
N < N @
<] =) S
> Im H <
@ T 2 k=1 8 ]
S a o} 5] c @ s £
c 3} o B e 5 5] 1=
=] = (7] =] o =< o = 2]
E=
3
e}
=
=
2
ko] ~——
=]
o
o
-
! ! ! | i | 1
© © < N
— — — -
I
N O
O
o N
H He—
M._+_ °
34 —e—
N~
o0}
™
—Q—
—oH
—@—
Y— —0—
© ——
[ —0—
=~ —e—
<2 o=
—~
Qo
Q.
o
~
>
—
£ —e-
Q.
b_ ——
D
©
A_ —@—
—
= —e—
o —e—
(&) ——
—e—
——
@
—e—
—Q—
_________________ ________
o o o o o o o
o o o o o o
o 0 o [Te) Yo} o
3 = - | —




pmlY RMS (ppm)
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pm16X RMS (ppm)
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pm16Y RMS (ppm)
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lagr_asym_usl RMS (ppm)
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diff_bpm4eY RMS (um)

g€'eeor
c'eeoy
T'eeor
0€coy
v'eeoy
€'¢eoy
[x44v4
T'ceor
0'ceor
S'TeoY
v'Teor
€'Teor
¢'Teoy
T'Teor
0’120y
8'020Y
R4y 4
9'0¢0v
S'0c0v
¥'0c0or
€'0c0or
2'0coy
T'0cov
0'0cov
7’6107
€'6107
2’6107
T'6T0V
0610V
7’8107
€'8107
2’8107
7’8107
0’810V
v'.107
€'.107
¢'L10v
T'.LT07
0'.T07
7’9107
€9107
¢'9T0Y
T'9T0V
09707
¥'S107
€'9T107
2'ST0Y
T'ST0Y
0'sTOY
v'eT0r
o204
24104
TeToY
0'€T0Y
v'e¢ior
€¢I0v
¢eioy
T'¢cior
0cIor
€TI0V
¢'T10Y
TT107
0'TI07



1D pull distribution

diff_bpm4aX (nm)
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diff_bpm4aX RMS (um)
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diff_bpm4aY RMS (um)
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diff_bpm1X RMS (um)
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X2/ ndf

14.69 £ 9.61

Constant

-0.3828 + 0.1629
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1D pull distribution
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